Sr Questions Answers Choice

A S S e
. . e . e s g B. S JI5 15 s lhise L oS pue
1 e US laxid S S cila S Gl 55 s K (e el S ad e Sisnniy K, C. 5 m e s

TR

CIN Y
BECNST S
Jasw o) de
2%

2 a el e 03138 (s S A s,

adla

zu

sLdl L wadg Hlaag
Gl allias

3 o Jal e 0328 15 e )3 Al

SIS S SHA
e 5 oS S
UGS o) U8 s Jlaxiad

Caad

4 G el 3 S 58 e S SR,

5 Sk & 58 G UeS (e o

6 (S se S g a5 S 2l dae WSS ala oS G S diea b S SIS J8 50 G 8 IS s
du_”@\lsclxér\..aw

Cuald ol o G Cald Gagadie Sl (e ) 38 o s LS Jlaxtil (pe S Ky ¢ QIS ¢ LS S 8
e S S

8 Sas dald me ool 55 e S Osd) i S eS o Ula WS Jlaniid (e siletie sl Sulal (5 i ¢ SIS S 89
=

ng b
ag Sb
AU 5N
B

9 ol UG S 2 3 S soama o S S i S culie (S 38,

BBt
A S
BISTET R

2@ Ao

10 SR U S oS a8 S, ) A S Gl (S50,

11 S oS 55 5 S,

12 e g s (B e Qs os S,

13 i (i 00 1S US4 S,

14 ot Ak i aa 1S Sy S,

15 O S8 S ok S S (e Gior s (RS 5y Cla e b,

DOWP DOW » 0OWP DOUP U0OWP» U0UP DOUP UDOEP U0UP DOWmP» U0UP U0W» UOm» 00UP O






